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Question Number : 1 Question Id : 70819121184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A radioactive sample is undergoing o decay. At any time L, its activity is A and another

time t,, the activity is TX What is the average life time for the sample ?

-

Options :
In5
t‘) 1'.1
70819168701. ~
In(ty, + t;)
70819168702. 2
.tz £

70819168703, In5

70819168704.

Question Number : 1 Question Id : 70819121184 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
In5
L (8]
70819168701.
In(t; + t;)
70819168702. 2
.tz £

70819168703, In>

70819168704.

Question Number : 2 Question Id : 70819121185 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labeled as Assertion A and the other is labeled as
Reason R.

Assertion A : For a simple microscope, the angular size of the object equals the angular size
of the image.

Reason R : Magnification is achieved as the small object can be kept much closer to the eye
than 25 cm and hence it subtends a large angle.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

20819168705, Both A and R are true and R is the correct explanation of A

70819168706. Both A and R are true but R is NOT the correct explanation of A

70819168707. A is true but R is false



70819168708, M 1S false but Riis true

Question Number : 2 Question Id : 70819121185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
9 3w fen MU E ;U AU A # SR T FWOR |
WFTT A . Tl e Qeweel  fau fovdt &1 S 9159 9fdfea & H0i 9I5s & a0
G
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Options:

20819168705, A R 21 W € do1 R SA9F=A A F1 el =are 2|

70819168706. AWREFH’HET%W R AT 1 W&l = 76 ¢ |

20819168707, A T € T R Wl T ¢

70819168708, A T Tél & T R WE

Question Number : 3 Question Id : 70819121186 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tuning fork A of unknown frequency produces 5 beats/s with a fork of known frequency
340 Hz. When fork A is filed, the beat frequency decreases to 2 beats/s. What is the frequency

of fork A?
Options :

70819168709, -0 Hz



70819168710, -8 Hz

70819168711, 242 Hz

49
70819168712, -2 Hz

Question Number : 3 Question Id : 70819121186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I G F FE @A G A, 340 Hz 9/ & 4 o199 @ra f5ye & w95 o= wf

TFIZ 39 FA €| T5He A F T W forore- g wea 2 faere ¥ e &1 9t &1 e

AH agfa #1772

Options:

70819168709, -0 H1z

70819168710, -8 Hz

70819168711, 242 Hz

A2
70819168712, -2 Hz

Question Number : 4 Question Id : 70819121187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Draw the output signal Y in the given combination of gates.

A : —t
O[T 2 34 5t Ae— ]
X
B : Be
0] 1 2 3 4 5 s

Options :

o 1 2 3 4 5 s
70819168713.

of 1 2 3 4 5 s
70819168714.

ol 1 2 3 4 5 ts)
70819168715.

of 1 2 3 4 5 ts)
70819168716.

Question Number : 4 Question Id : 70819121187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A } —t
0 1 2 3 4 b5 t(ﬁjl .f"ll._[
Y
B } H.
0 1 2 3 4 5 ts)
Options :
of 1 2 3 4 5 ts)
70819168713.
0 1 2 3 4 5 ({(s)
70819168714.
ol 1 2 3 4 5 ts)
70819168715.
of 1 2 3 4 5 ¢t
70819168716.

Question Number : 5 Question Id : 70819121188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 ’ A second’s pendulum has a time period of 1 second.
Statement II [t takes precisely one second to move between the two extreme
positions.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

20819168717, Both Statement I and Statement 11 are true

70819168718. Both Statement I and Statement 11 are false

70819168719. Statement | is true but Statement Il is false

70819168720. Statement 1 is [alse but Statement 11 is true

Question Number : 5 Question Id : 70819121188 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T & FoA ey Mo E
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Options :

20819168717, S e I SR He 11 TE &

20819168718, S e 1 ST HeT 11 9 7

70819168719. I | FE € T w1 WEl T 2

70819168720. ERSIEUEGER S EREIELES



Question Number : 6 Question Id : 70819121189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If°C" and “V’ represent capacity and voltage respectively then what are the dimensions of A
where C/V=A7?

Options:

[—27 -312T6
70819168721.[M o

] 3 413 7
70819168722, M "L 71" T']

1-21L.-413T7
70819168723. LT i

[-11-31-2T-7
70819168724. Lol i i 4

Question Number : 6 Question Id : 70819121189 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ifz it R Feeal F1 FAW: ‘C AV T PG T E S e, afac/v =
Options :

[—27 31276
70819168721.[M G

f 3 413 7T/
70819168722, M "L " I°T']

=2 413 77
70819168723. Lo e

f-11-31-2T-7
70819168724. LoReCi e



Question Number : 7 Question Id : 70819121190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An aeroplane, with its wings spread 10 m, is flying at a speed of 180 km/h in a horizontal
direction. The total intensity of earth’s field at that part is 2.5x 10 4 Wb/m? and the angle
of dip is 60°. The emf induced between the tips of the plane wings will be

Options :

70819168725, 108.25 mV

62.50 mV
70819168726.

70819168727. 88.37 mV

F 2 T
70819168728, ~ 1122 m\

Question Number : 7 Question Id : 70819121190 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10 m 94 for 1 % 1AW 4foe T § 180 kn/ h R TR W ST W@ | W O H g F
TEFIA 87 B FA AW 2.5% 10 4 Wb/ m?2 71 7 B0 60° ¥ | 50 AGAR F 9 AP F A9
i faed 9 9 (emf) 27
Options :

70819168725, 108.25 mV

62.50 mV
70819168726.

70819168727. 88.37 mV

r 2 T
70819168728, ~ 1122 m\



Question Number : 8 Question Id : 70819121191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A cord 1s wound round the circumference of wheel of radius r. The axis of the wheel is
horizontal and the moment of inertia about it is . A weight mg is attached to the cord at the
end. The weight falls from rest. After falling through a distance 'h’, the square of angular
velocity of wheel will be :

Options :
Egh
70819168729.
2¢h
| /]
70819168730, | mI
- 2mgh
I+ mr‘2
70819168731.
2mgh
2
70819168732, | 1 2mI

Question Number : 8 Question Id : 70819121191 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

farddi =it =1 ey o few =1 witfy Woorie T | o9 uiEn @ e dfas & 9o o Afae e F
i e We S T ¥ T S F A B Mg A1 ¥ TE R fow A e €1 S
‘W A & 9= 9feu % Fg 37 F 39 1 HE 2

Options :
Egh
70819168729.
2¢h
| /]
70819168730, | mI

70819168731.



2mgh

[ + mr?

2mgh

| Emr2

70819168732.

Question Number : 9 Question Id : 70819121192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The trajectory of a projectile in a vertical plane is y=ox— px? where a and B are constants
and x & y are respectively the horizontal and vertical distances of the projectile from the
point of projection. The angle of projection 8 and the maximum height attained H are
respectively given by :

Options :
z
o
tan 1[_%, ey
20
70819168733.
.l( ; ) 2
tan 1|E fudl
al P
70819168734.
f.'l'.z
tan lt'l'.,, E
70819168735.
'—1:['!'.2
tan l(.'l'.,.
70819168736. B

Question Number : 9 Question Id : 70819121192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
2
tan l[:’.r —
70819168733 2B
tan 1(&& o
-_CE/' B
70819168734,
2
o
tan lu, a8
70819168735,
40:2
Ltan lct,
70819168736. P

Question Number : 10 Question Id : 70819121193 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two masses A and B, each of mass M are fixed together by a massless spring. A force acts on
the mass Bas shown in figure. If the mass A starts moving away from mass B with acceleration
‘a’, then the acceleration of mass B will be :

<—@——TEOEIII—0
F B A
Options :
ME
F+ Ma
70819168737.
F + Ma

70819168738, M

708191687309.



‘Ma —F
M

'F — Ma
M

70819168740.

Question Number : 10 Question Id : 70819121193 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
~ MF
+ Ma
70819168737.
'F + Ma

70819168738, M

‘Ma — F

70819168739.

'F — Ma
M

70819168740.

Question Number : 11 Question Id : 70819121194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : An electric dipole is placed at the centre of a hollow sphere. The flux
of electric field through the sphere is zero but the electric field is not
zero anywhere in the sphere.

Statement 11 If R is the radius of a solid metallic sphere and Q be the total charge
on it. The electric field at any point on the spherical surface of radius
r (<R)is zerobut the electric flux passing through this closed spherical
surface of radius r is not zero.

[n the light of the above statements, choose the correct answer from the options given
below :

Options :

70819168741 Both Statement 1 and Statement 11 are true

70819168742 Both Statement | and Statement Il are false

70819168743. Statement 1 is true but Statement 11 is false

70819168744. Statement | is false but Statement 1l is true

Question Number : 11 Question Id : 70819121194 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819168741, T I 1 ST HAT 11 W |



20819168742, 71 HT I AR R 11 Wel el 2 |

20819168743, T AT 1 Hel & T AT 1l Wel el &

70819168744, P 1 Hel Tl € 90 he I el €|

Question Number : 12 Question Id : 70819121195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A scooter accelerates from rest for ime t, at constant rate a, and then retards at constant

rate a, for time t, and comes to rest. The correct value of t_l will be :
g 2 2

Options :

70819168745.

70819168746.

.':"!.1 { 3.2
a]
70819168747.

aq |'ﬂ.2

70819168748, 2

Question Number : 12 Question Id : 70819121195 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

2

dg
70819168745.

a

d
70819168746.

.i-3.1 | Elz

dy

70819168747.

.Ell | H?_

70819168748, 2

Question Number : 13 Question Id : 70819121196 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The internal energy (U), pressure (P) and volume (V) of an ideal gas are related as U=3PV +4.
The gas is :

Options :

monoatomic only.
70819168749. ;

70819168750. diatomic nnl}-'.

70819168751 polyatomic only.

either monoatomic or diatomic.
70819168752.



Question Number : 13 Question Id : 70819121196 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ot e 0 3 ferw st Sl (U), 31 (P) SR ST (V) % o4 W 1 U=3PV +4 % &Y
Hm T g wWIE

Options :

70819168749, ol TH HHIS
70819168750, 71 GTCHIIF
70819168751, 01 AG AR

70819168752, N Al Ueh GLHIIE &A1 TEHTHH

Question Number : 14 Question Id : 70819121197 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The recoil sp eed of a h}-'drogc-n atom after it emils a photon in going fromn=>5state ton=1
state will be

Options :

70819168753, 34 m/s

70819168754, +17 m/s

3.25 m/s
70819168755.

219 m/s
70819168756.



Question Number : 14 Question Id : 70819121197 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl BIESIS W i n=5 ST H n=1 FTEN W IH R fFE FeA F1 3o 79 F

YA Fraer =1 ent ;

Options :

70819168753, 34 m/s

70819168754, +17 m/s

3.25 m/s
70819168755.

219 m/s
70819168756.

Question Number : 15 Question Id : 70819121198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The length of metallic wire is I, when tension in it is T,. Itis [, when the tension is T,. The
original length of the wire will be :

Options :
L+ Iy
70819168757. 2
Toly + Tyby
T, + T,
70819168758. -
Tyl - Tl
I, = Ty

70819168759.



T4 — Til

T, — Ty
70819168760. -

Question Number : 15 Question Id : 70819121198 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
o1  ToRelt TR 1 T 5@ 30 WHE 74 T, 21, 8| T4 T, T T 30H T [, 2| 59T

Options:
Lo+ 1
70819168757. 2
;o4 WT 3
ARG
70819168758. T
e
T"J T].
70819168759. §
Th - Tl
=
70819168760. Z

Question Number : 16 Question Id : 70819121199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particle executes S.H.M., the graph of velocity as a function of displacement is :
Options :

a circle.
70819168761.



a parabola.
70819168762.

70819168763, &M ellipse.

a helix.
70819168764.

Question Number : 16 Question Id : 70819121199 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FTE H T A M F @ 2| AT F Fer F F9H S H ATE 2
Options :

70819168761, 30

70819168762. :

70819168763. 1

Fefarr (gfaw)

70819168764. -

Question Number : 17 Question Id : 70819121200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The incident ray, reflected ray and the outward drawn normal are denoted by the unit
.—} .—} .—) & = .
vectors @, b and ¢ respectively. Then choose the correct relation for these vectors.
Options :
— =
a—c

70819168765, P~



— = | —

b=a Z{a-c-c

70819168766.
b=at2c
70819168767.
b=2a+c
70819168768.

Question Number : 17 Question Id : 70819121200 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e FaRol, Ratia o e =T F S w7 S ® O U g a, b SN ¢
g fefTa fm T 2| o7 wfewi & fom we dav 7

Options:

70819168765.

70819168766.

70819168767.

70819168768.

Question Number : 18 Question Id : 70819121201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Find the peak current and resonant frequency of the following circuit (as shown in figure).

TS
100mH g0

") V =30 sin 100t

P

120 0)
Options:

” ;
70819168769, > -+ and 50 Hz

70819168770, -2 A and 50 Hz

70819168771, 2 4 and 100 Hz

’j‘ ;
70819168772, -2 A and 100 Hz

Question Number : 18 Question Id : 70819121201 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A § g9ty U gfey # fra g SR e st wE: ©

—T 70T —
. I
100mH 400’ F

@) V=30 sin 100t

1200
Options:

. B
70819168760, 2 A FI50 Hz



70819168770, 02 A T 50 Hz

70819168771, 2 A H100 Hz

70819168772, V-2 A 3T 100 Hz

Question Number : 19 Question Id : 70819121202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Aninclined plane makj_ng an angle of 30° with the horizontal is placed in a uniform horizontal

electric field 200 % as shown in the figure. A body of mass 1 kg and charge 5 mC is allowed

to slide down from rest at a height of 1 m. If the coefficient of friction is 0.2, find the time
taken by the body to reach the bottom.

3
[g=9.8 m/s? sin 30°= %; cos 30°= % ]

—
E=200N/C

Options :

70819168773.

70819168774, 138

70819168775, 0-92S

70819168776, 208



Question Number : 19 Question Id : 70819121202 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
e = . = = = y = . N = o) i = '
&S 9 30° & HIV M 9 foFE1 A 7 @ 200 Emw%ﬁamﬁ e kD A

A H T SR, 1 kg FoA ¥ o favg 1, i@ W 5 mC o &, fam 1 fefd 8 1m
ST ¥ T el T G T € A S e 0.2 3 1 7 fqve & et 0 9ge | o el 99

_ TFvE Fm|
1 3
AL 9 . pic ,J:u'
[6=9.8 m/s%; sin 30 2,ms 30 —2 ]

S ——
F=200N/C

1m

Options :

70819168773.

70819168774, 138

70819168775, 192 S

70819168776, 020'S

Question Number : 20 Question Id : 70819121203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A wire of 1 () has a length of 1 m. It is stretched till its length increases by 25%. The
percentage change in resistance to the nearest integer is :

Options :

-
70819168777, 07



»
70819168778, 0%

5%

"
70819168779. ~

2.5%
70819168780, 12>

Question Number : 20 Question Id : 70819121203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

| Q Wiee F fel 9 1 @ 1 m 2| §9 9% 1 Wi S0 @ | 25% F 3fE F 2
feeam Yo 9 aR & Wiy § 2 aen yieva wiEe  %ERm

Options:

70819168777.

70819168778.
70819168779.

70819168780.

Physics Section B

Section Id : 708191953
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5



Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911233
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819121204 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The zener diode has a V,=30 V. The current passing through the diode for the following
circuitis = mA.

4k
A

'
~]
il

o

o

90 V™5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819121204 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



fFfl SR e FV, =30Vl TR ufmg Ffumede d@f@am . mA
2 |

90 V" N %5 k

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819121205 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: J
Time period of a simple pendulum is T. The time taken to complete 3 oscillations starting

a g - : 3
from mean position is —T. The value of ais .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819121205 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819121206 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The volume V of a given mass of monoatomic gas changes with temperature T according to
' 2

the relation V=KT?. The workdone when temperature changes by 90 K will be xR. The

valueof xis

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819121206 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2
ol e TR T T AV, AT W W Y = KT3 % e 0 g0 uRard a8 |
a9 § 00 K %1 9 A W o T #EaR A xFAHE |
[R =T 9 from)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819121207 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two stream of photons, possessing energies equal to twice and ten times the work function
of metal are incident on the metal surface successively. The value of ratio of maximum
velocities of the photoelectrons emitted in the two respective cases is x : y. The value of
L S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819121207 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AT 1 < YR AT S R S % FEEeE % S T SR 20 T % 9 g S 39
o1 % I8 T ST Fd ¢ | 57 2 T § Ieaford soregil o Afehan S B S a2
YFEA @l

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819121208 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the highest frequency modulating a carrier is 5 kHz, then the number of AM broadcast
slations accommodated in a 90 kHz bandwidthare .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819121208 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

afe fepelt e Tt 1 A2 i delt 3= A9M 5 kHz 8, 190 kHz 992 <2 & aumifaa
TH A6l S WIS AeEnE YA H HEn Rl

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121209 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the reported figure of earth, the value of acceleration due to gravity is same at point
A and C but it is smaller than that of its value at point B (surface of the earth). The value of
OA: AB will be x : y. The value of x is

Earth

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819121209 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fau o yeat % s ¥ g A SR famg C W e SR 1 W 9A 8, W e o F R
7 fag B (398 % %) W o @01 F AH Y 9 €1 OA : ABH AH x: y &M x F AR
_#

1
LY
{3

R =6400 km

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121210 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
0

1 mole of rigid diatomic gas performs a work of — when heat Q is supplied to it. The molar
g

i ’ i . g A
heat capacity of the gas during this transformation is ? Thevalueofxis .

[R = universal gas constant]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819121210 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o1 32 5T T 1wqwqmmwmaﬁw;mm%| T B
ﬁ-ﬂaﬁﬁsﬂﬁvﬁﬂﬁmmmﬁm%#ﬁuﬁm R 1
R =t T feoms g

Response Type : Numeric
Evaluation Required For SA: Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819121211 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A point source of light 5, placed at a distance 60 cm infront of the centre of a plane mirror of
width 50 cm, hangs vertically on a wall. A man walks infront of the mirror along a line
parallel to the mirror at a distance 1.2 m from it (see in the figure). The distance between the
extreme points where he can see the image of the light source in the mirroris _____ om.

5
50 cm -

60 cm

—I12m—
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819121211 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



T S 1 S g I AR W FeAR @2 50 cm T2 F THE HHGE 200 F F F W
60 cm T W feom &1 e § o AR 50 <0 F O 1.2 m T R 921 FE =0 59 T F
TR T @ % S T H ¢ 9 fagi % 9 & g, Wl 9% 98 AR T Ea

FUdfaE FeE TFAE,  UHL e
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60 cm
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819121212 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A particle executes 5.H.M. with amplitude “a’ and time period ‘T". The displacement of the

[v: g
X3 The value of x is .
7

v

particle when ils spec-d is half of maximum speed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819121212 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

W o r - % e i |'_' .
I 1 AW ‘2’ SR SETH T F WY T S M H @ ¢ | w0 H e Y2 T m

)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121213 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

27 similar drops of mercury are maintained at 10 V each. All these spherical drops combine
into a single big drop. The potential energy of the bigger dropis _____ times that of a
smaller drop.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819121213 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
TRERL T 27 WA T Yo F1 a0V T T T E | T Wl ey 98 e v 9 9e
TR | T B A H e A ad g A fefaw e T En
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId: 708191954
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911234
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819121214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11
(Molecule) (Bond order)
(a) Ne, i 1
®) N, (i) 2
() F, () O
d) 0O, ) 3

Choose the correct answer from the options given below :

Options:



70819168791, (a) — (1), (b) — (i), (¢) — (iii), (d) — (iv)

70819168792, (@) — (), (b) — (iii), (c) — (ii), (d) — (i)

20819168793, (@) = (i), (b) = (i), (c) = (iv), (d) — (iii)

20819168794, (@ — (iii), (b) — (iv), (c) — (i), (d) — (i)

Question Number : 31 Question Id : 70819121214 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HeT - | FIHAT - 113 919 gHA Fifag

o=l - 1 = - 11
(3101) ( 32l A )
(a) Ne, @ 1
®) N, (i) 2
© F, (i) 0
d) O, (iv) 3
Options :

70819168791, (a) — (i), (b) — (i), (c) — (iii), (d) — (iv)

70819168792, (@ = (), (b) = (iii), (¢) — (i), (d) — (i)

70819168793, (@ = (i), (b) = (i), (¢) — (iv), (d) — (iii)

50819168794, @ = (i), () = (iv), (©) = (i), (d) — (i)

Question Number : 32 Question Id : 70819121215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The nature of charge on resulting colloidal particles when Fe(l, is added to excess of hot
water is :

Options :

70819168795, Posttive

70819168796, Negative

70819168797, neutral

70819168798. sometimes pOSIT.IVC' and sometimes I'IC'EB.L‘[VC‘

Question Number : 32 Question Id : 70819121215 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FeCl, %1 T Tt % sAifee § fAem W 3= Fiemsed wi W W2 2w ST ol U @ ;
Options :

70819168795, TICHT

70819168796, 2 McA

70819168797, AT

70819168798, XAl HAH® HHI HUHE

Question Number : 33 Question Id : 70819121216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of electron gain enthalp}-' is :



Options :

70819168799, ©>S5>5e>Te

70819168800. e >5e>5>0

70819168801, >~ O >Se>Te

70819168802, °~>5¢>Te>0

Question Number : 33 Question Id : 70819121216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Options :

70819168799, O >5>5e>Te

70819168800, le>5e>5>0

70819168801, 5> O >5e>Te

70819168802, >~ 2¢~ Te>0

Question Number : 34 Question Id : 70819121217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1

List-1 List-11
(a) Siderite 1R
(b) Calamine (i) Ca
(c) Malachite (iii) Fe
(d) Cryolite (iv) Al
v) Zn

Choose the correct answer from the options given below :
Options :
70819168803, (@) — (i), (b) — (ii), (c) — (v), (d) — (iii)

70819168804, (@ — (i), (b) — (v), (¢) — (i), (d) — (iv)

70819168806, (@) — (iii), (b) — (i), (c) = (v), (d) — (i)

Question Number : 34 Question Id : 70819121217 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Hel - | F1THAT - 113 919 gHa Fifae

0 - 1 = - 11
(a) Tasamse [ Cu
(b)  HETHEA (i) Ca
(c) HeTHES (i) Fe
(d) IR (iv) Al
v) Zn

== feg 74 faweul H 4 WE =W 9

Options :

70819168803, (@ — (1), (b) — (ii), (¢) — (v), (d) — (iii)

70819168804, (@) — (iii), (b) — (v), (c) = (i), (d) — (iv)



70819168805, (@ = (. (b) = (ii), (¢) — (iii), (d) — (iv)

70819168806, @ > () (B) = (1) () = (v). (d) = (i)

Question Number : 35 Question Id : 70819121218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following forms of hydrogen emits low energy 3~ particles ?
Options :

70819168807, Lroton H

Protium %H
70819168808.

Deuterium 2H
70819168809. 1

Tritium TH
70819168810.

Question Number : 35 Question Id : 70819121218 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

freAfetiad § 4 SIEersH &1 %9 91 ®Y9 9= Fo1 & 2~ FH00 &1 Seasi= Il & 2
Options :

70819168807, e H'

wifeTs TH
70819168808.

L
70819168809, =2 1H



el TH
70819168810.

Question Number : 36 Question Id : 70819121219 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L.

List-1 List-11
(a) Sodium Carbonate (i Deacon
(b) Titanium (i) Castmer-Kellner
(c) Chlorine (i) wvan-Arkel
(d) Sodium hydroxide (iv) Solvay
Choose the correct answer from the options given below :
Options:
70819168811. (@) — (iv), (b) — (iii), (c) — (i), (d) — (ii)

70819168812, (@) = (), (b) — (1), (¢) — (i), (d) — (ii]

70819168813. (@) —= (i), (b) — (iii), (c) — (iv), (d) — (ii)

20819168814, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

Question Number : 36 Question Id : 70819121219 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T - 1 FHE - 11 F 9 A FHiae

Tt - 1 =il - 11
(a) Hifeas FEME i) =®E
(b) i (i) FRET-FAR
() A (i) ST
(d) Hiferm TR (iv) e

== fed T fasedi H 9 W I g
Options :
70819168811, (@) = (iv), (b) — (i), (c) — (i), (d) — (ii)

70819168812, @) = (), (b) = (i), (c) — (ii), (d) — (i

70819168813, (a) = (1), (b) — (iii), (c) — (iv), (d) — (ii)

70819168814, (@) — (iii), (b) — (i), (c) — (1), (d) — (iv)

Question Number : 37 Question Id : 70819121220 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which pair of oxides is acidic in nature ?

Options :

70819168815, 0203 9102

70819168816, 2203 20

N-O, BaO
70819168817. -

70819168818, 20 510,



Question Number : 37 Question Id : 70819121220 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FH T AT F I AT TFHT F 22
Options :

70819168815, 2203 5102

B,0,, CaO
70819168816, * -

N,O, BaO
70819168817. 2

Ca0, SiO,
70819168818. =

Question Number : 38 Question Id : 70819121221 Question Type : MCQ Option Shuffling
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : In TlI5, isomorphous to Csl, the metal is present in +1 oxidation
state.
Reason R : T1 metal has fourteen f electrons in its electronic configuration.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819168819. Both A and R are correct and R is the correct explanation of A
70819168820. Both A and R are correct but R is NOT the correct explanation of A

70819168821. A is correct but R is not correct

70819168822. A is not correct but R is correct

Yes

:Yes



Question Number : 38 Question Id : 70819121221 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= <1 FyA fRU MU ¥ 1 UF UG A IR T FHUTR B

AIRIT A+ Csl, F T Tl T, o1g + 1 S0 s § Sufes 2|

FAUIR T1 =11 % SeigeM fa=ama ¥ <iee f 3092 e ¢

I9IEH HIA 6 Hed H 74 fau 7 fawedi § | waifus 3fEd 3w g

Options :

20819168819, Ml A TR Tel € SRR, A Fl Hel == € |

20819168820, 3 A T R Wl & g R, A 1 ¥el =wen T €|

20819168821, A T € TG R W T 2

J0819168822, A T8 Tl € T R W ¥

Question Number : 39 Question Id : 70819121222 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Calgf}n is used for water treatment. Which of the t’oﬂowing statement is NOT true about
Calgon ?

Options:

70819168823 Calgon contains the 21d most abundant element by weight in the Earth’s crust.

70819168824. It is pnI}-'m:-ric cnmpnund and is water soluble.

70819168825. It is also known as Graham's salt.



N, ] g v
70819168826. It doesnot remove Ca=" ion by precipitation.

Question Number : 39 Question Id : 70819121222 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L

ORI F1 SN 9 F TR § 9 9 2| FHera & wed § 1§ U 59 9 59 99 76 87
Options :
20819168823, FOMI H, MR IFTUR 4-vddt § g8 1fd =ge 7 Hifed 2|

20819168824, T gl AT & A7 5 | foemyiia 2

20819168825, TP UTEH TN &% AH | off S SR

—~ 2}‘ " = i o~ -,
20819168826, 7€ Ca*t I Y H URE( FIF JIF el H ¢ |

Question Number : 40 Question Id : 70819121223 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ceric ammonium nitrate and CHCl,/alc. KOH are used for the identification of functional
groups present in __ _and __ respectively.

Options :

70819168827, alcohol, amine

70819168828, amine, alcohol

70819168829 alcohol, phenol

70819168830 amine, phenol



Question Number : 40 Question Id : 70819121223 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ufteh HHIH Mege A CHCL/Uewhieid KOH 1 S s @
T I Yfea ¥ fer fan o 2

Options :

70819168827. e

= ML T

70819168828. M, UehIRIe

= s iy it

70819168829, o, Wi

b N N e

70819168830, v I

Question Number : 41 Question Id : 70819121224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 - 4
In CH, =C=CH - CH; molecule, the hybridization of carbon 1, 2, 3 and 4 respectively,

are :
Options :

9 ocg gl iy
70819168831, /P WP

3 3 ond
70819168832, °F 7 5P P+ 5P

g gl 3
70819168833, F 7 5P 5

sp2, spo, sp2, spo
70819168834. P ee®



Question Number : 41 Question Id : 70819121224 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i SR 4 e g 5 a
CH, =C=CH CH;;HHHWLZ,SHWLLHFWW:%:
Options:

s‘pz -;pz -;pz -;pﬁ
70819168831, =~ T "

70819168832, F » *Pr SV, 5
b = §M. 5 2 5 3
70819168833, *F 7 ¥+ 57 5P

2 3 7 3
70819168834, 5P+ 57+ 5P+ 5P

Question Number : 42 Question Id : 70819121225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
2)Cr,0,, 773 K
O 10-20atm

Considering the above reaction, the major product among the following is :
Options :
CH,CH,

70819168835.

70819168836.



COCH,CHj

CH,
CH;

70819168837.

CH,CH,CH,

70819168838.

Question Number : 42 Question Id : 70819121225 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1) Zn/HCI
N C 1'303 , 773 K
O 10- 20 atm

IR AfIfFD 1 7= 3R €

Options :

CH,CH;
70819168835.

COCH,CH;
70819168836.

70819168837.



CH,
CH,

CH,CH,CH,

70819168838.

Question Number : 43 Question Id : 70819121226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identify A in the given reaction.

OH

S0Cl, _
— A (Major Product)

HO CH,OH

Options :
OH
70819168839, ©OH  CHy
cl
70819168840, ©OH  CHOH

70819168841.



OH

Cl  CH

Cl

Gl CH,Cl
70819168842, -

Question Number : 43 Question Id : 70819121226 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
21 T AR | A w1 afEE

OH
S0Cl,
—— % A (74 3R)
HO CH,OH
Options :
OH
CH,Cl1
70819168839.
Cl

70819168840, ©H CHOH



OH

70819168841, ¢ CHRU
Cl
70819168842. C CHA

Question Number : 44 Question Id : 70819121227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify A in the given chemical reaction.

CH,CH,CHO —
O: 2 » A (Major Product)
CH,CH,CHO C,;HsOH, H>5O

A

l] lI ~CHO

Options:

70819168843.

O

!
.|_c
XL

70819168844. l I

70819168845.



CH,CH,COOH

70819168846, CH,CH,CH,0H

Question Number : 44 Question Id : 70819121227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= T TaEtE AfufEm |5 A F ufeEf

CH,CH,CHO —
d
@[ » A (99 3E)
CH,CH,CHO 2H50H, H,O

A

lI lI ~CHO

70819168843.
C—H

Options :

3

70819168844.

R

70819168845.

CH,CH,COOH

o

CH,CH,CH,OH
70819168846. .

Question Number : 45 Question Id : 70819121228 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntf_t'}-' A in the fnllnwing chemical reaction.

CHO i) HCHO, NaOH "
ii) CHyCH,Br, NaH, DMF
CHs iii) HI, A
Options :
1
: _C—OCH,CHj
70819168847, 11©
i _CH,I
70819168848, 11O
: _CH,OH
70819168849, | 1O
CH,OH
CH;0” :
70819168850.

Question Number : 45 Question Id : 70819121228 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



== <t T sttt d A ufeEi )
CHO

i) HCHO, NaOH i
ii) CH;CH,Br, NaH, DMF

CH;0 iii) HI, A

Options :
O
|

: ,C—OCH,CHj,
HO

: _CH,l
HO

: _CH,OH
70819168849, 1
: _CH,OH
CH,0

70819168850.

70819168847.

70819168848.

Question Number : 46 Question Id : 70819121229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-11.

List-1 List-11
Cl
Nz_’ﬂﬂ.l_ L
(a) @'/ LLI;;} +N, (i) Wurtz reaction
Cl

N, *Cl—
(b) @/ 2 C_u,—H(_l} @ +N, (i) Sandmeyer reaction

(c) 2CH,CH,Cl+2Na _ Ether C,H; ~ C,H; +2NaCl(iii) Fittig reaction

(d) 2CHCl4 ONa _ Ether , C;H:—C,H:+2NaCl  (iv) Gatterman reaction

Choose the correct answer from the options given below :
Options :
20819168851, (@) — (i), (b) — (iv), (¢) — (i), (d) — (iii)
70819168852, (@) = (i), (b) = (i), (c) — (iv), (d) — (iii)

70819168853, (a) — (iii), (b) — (1), (c) — (iv), (d) — (ii)

70819168854, (@) — (ii), (b) — (), (¢) — (i), (d) — (ii)

Question Number : 46 Question Id : 70819121229 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT - | & H=l - 11 F F19 GH BT

T - 1 = - 1
cl
N, *Cl= L
(a) g/ MELE 2 I @ +N, (i) 5 FAfafw
Cl

N, TCl—
(b) O/ 2 Cu, HCI ,@ N, (i) HrearR SR

(c) 2CH,CH,CI+2Na_Ether C,H, - C,H, +2NaCl (i) ffzn sifufsn
(d) 2C H.Cl+2Na_Ether CH_-CH,+2NaCl (iv) TetaM sAfafwan
= e 13 faedl § 9 W& S H1 A Fifo |

Options :

70819168851, (@ — (i), (b) — (iv), (¢) — (1), (d) — (iii)

70819168852, @ = (i), (0) = (i), (¢) = (iv), (d) — (i)

20819168853, (@) = (iii), (b) = (), () — (iv), (d) — (ii)

20819168854, @ — (i), (b) = (i), (€) = (), (d) — (ii)

Question Number : 47 Question Id : 70819121230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Seliwanoff test and Xanthoproteic test are used for the identification of and
o respectively.

Options :

70819168855, aldoses, ketoses

70819168856, Ketoses, aldoses

70819168857, Ketoses, proteins



proteins, ketoses
70819168858.

Question Number : 47 Question Id : 70819121230 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HfeTaHT Tm T S-HeigS T H G FE; bl %l Ifear |
o T 21
Options :

70819168855, “c=Id, I

L

70819168856, T o1 RESM

70819168857. idinis

70819168858. 9,

Question Number : 48 Question Id : 70819121231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List-1 with List-11.

List-1 List-11
(a) Sucrose (i) P-D-Galactose and B-D-Glucose
(b) Lactose (i) «-D-Glucose and pB-D-Fructose
(c) Maltose (iif) a-D-Glucose and o-D-Glucose
Choose the correct answer from the options given below :

Options :
70819168859, (@) — (i), (b) — (i), (c) — (iii)

70819168860, (@ — (i), (b) = (iD), (c) — ()



Question Number : 48 Question Id : 70819121231 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl - | 1 H=0 - 115 919 GHel Hifa

T - 1 = - 11
(a) T (i) p-D-eEEM a1 B-D--THE
(b) T (ii) o-D-TEHE T B-D-FRH
(c) Wee™ (i) o-D-TTHE A o-D-TTFH
Options :

70819168859, (@) = (i), (b) = (i), (¢) — (iii)

70819168860, (@) = (i), (b) — (ii), (c) — (i)

70819168861. {El] — {i], {b] —r {ii]:.], {C] —r {ii]

70819168862, (@) = (i), (b) — (1), (¢) — (ii)

Question Number : 49 Question Id : 70819121232 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,4-DNP test can be used to identify :

Options:

70819168863, nalogens



70819168864, 2ldehyde

70819168865, amine

70819168866, Ccther

Question Number : 49 Question Id : 70819121232 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2,4 DNP wirqu foah fg=r & fou s e, s &
Options:

70819168863. el

70819168864, GlcselEs

70819168865.

"~

70819168866, <3

Question Number : 50 Question Id : 70819121233 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A. Phenyl methanamine

B. N,N-Dimethylaniline

C. N-Methyl aniline

D. Benzenamine

Choose the correct order of basic nature of the above amines.

Options :



70819168867, 2> B>C>D

70819168868, 0 > C > B> A

70819168869, 2> C>B>D

70819168870, P> B>C>A

Question Number : 50 Question Id : 70819121233 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. e HYATHE
B. N,N-TEHf¥S Ufem

i L]

C. N-Af"s ufemq

= e -y

D. HE~=[UuHA
== fou 74 fashedi § 9§ ST UHAT 1 9RE YFid 6 Tl HE g
Options :

N=R>C>D
70819168867.

70819168868. D >C>B> A

70819168869. A>C>B>D

70819168870. P> B>C> A

Chemistry Section B

Section Id : 708191955

Section Number: 4



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911235
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819121234 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The I\IaI\ID3 weighed out to make 50 mL of an aqueous solution containing 70.0 mg Na t
permLis g (Rounded off to the nearest integer)

[Given : Atomic weightin g mol™!-Na:23; N:14;0:16]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819121234 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

70.0 mg Na* Tfd mL F % 50 mL 5oid Tao@q & 91 & fau NaNO, F1 T w7 Ao

[W%:Wﬂqﬂgmol lﬁJNa:B;N:l-—l;O:lﬁ]
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819121235 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of octahedral voids per lattice site in a latticeis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819121235 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T o § A A F gen i e wHE | (e i aw)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819121236 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A ball weighing 10 g is moving with a velocity of 90 ms~!. If the uncertainty in its velocity
is 5%, then the uncertainty in its position is %1073 m. (Rounded off to the
nearest integer)

[Given : h=6.63 10 Js]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819121236 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T 2 F 10 g 2 90 ms ™ 1 3 3 A 71 AfE 35 A H sAiaam 5% € @ g9
Haffgames  x10" 3 m. (R T0iF TF)

[fem @ : h=6.63 x 10~ ]3]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121237 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The average S—F bond energy in k] mol L of SF(.] is . (Rounded off to the nearest
integer)

|Given : The values of standard enthalpy of formation of SF(g), S(g) and F(g) are - 1100, 275
and 80 k] mol ! respectively.|

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819121237 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SF, % fom ima S—F oy 3o kjmol 1 H & | (T Yoiw )

(e  : SF(g), S(g) T F(g) % e we faart wedt & W91 - 1100, 275 71 80 k] mol 1]
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819121238 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 12.2 g of benzoic acid is dissolved in 100 g of water, the freezing point of solution was
found to be —0.93°C (K¢ (H,0) =1.86 K kg mol 1Y. The number (n) of benzoic acid molecules
associated (assuming 100% association) is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 55 Question Id : 70819121238 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

12.2 g A=5F 9% F1 100 g 9 § e W Ao F1 fewiE - 0.93°C v T E
(K (H,0)=1.86 K kg mol ™) | i 371 & o A %1 ¥em € (100% FF A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819121239 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The pH of ammonium phosphate solution, if pk, of phosphoric acid and pk, of ammonium
hydroxide are 5.23 and 4.75 respectively, is .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819121239 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ORI 3 F pk, T SR TGS B pky, FAW: 523 T 475§ | A HOR
famA #l pHT |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819121240 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Emf of the following cell at 298 K in V is xx 10 2
Zn/Zn?* (0.1 M)||Ag™* (0.01 M) Ag
. (Rounded off to the nearest integer)

- — . 2303RT
[Given:E¥ ,, =-076V;E® , =+080V; =——— =0.059]
n” /Zn Ag ' [Ag F

The value of x is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819121240 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Frerferfad de &1 298 K Wemf (V H) xx 10 2%
Zn|Zn?* (0.1 M)||Ag* (0.01 M) Ag
xHRAAE | (freheag qui® 9)

2B ., =-076V;E

In*t fZn

coason (OCMERIEE" e
4 =+080V; ——=0.059]

Ag [ Ag
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121241 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the activation energy of a reaction is 80.9 k] mol ! the fraction of molecules at 700 K,
having enough energy to react to form products is e”*. The value of x is
(Rounded off to the nearest integer)

[Use R=8.31] K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819121241 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ife v e = afF F91 809 K mol - 1%, @ 700 K R iz 1 9% 3w fows o™
AT T IE A & oI TG S, e Y¥ I aWAAE |
(Trerea™ i )

(e & : R=831]K 1 mol ]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121242 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In mildly alkaline medium, thiosulphate ion is oxidized by MnOy to “A”. The oxidation
state of sulphur in “A" s .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819121242 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7 T M § MnO; EeRe ST B A § A o AW 31 AT H weR
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121243 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The number of stereoisomers possible for [Co{ox)z{Br](NHﬁ)]z s .

[ox =oxalate]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819121243 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[Co(ox),(Br)(NH,) 2~ & fafam wwmemai #t 9= s
[ox= BT@?:IE]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId : 708191956
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911236
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819121244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the mirror image of the point (1, 3, 5) with respect to the plane 4x -5y +2z=8is (o, B, v),
then 5(c+ +v) equals :

Options :

70819168881, 3Y

70819168882, 41

43
70819168883.

70819168884, 7

Question Number : 61 Question Id : 70819121244 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A THAS 4x - 5y + 22 =8 F WU &g (1, 3, 5) T G0 WAl (o, B, y) T W5(a+ B +v) TR
£

Options :

70819168881, 39

70819168882, 41



43
70819168883.

70819168884,

Question Number : 62 Question Id : 70819121245 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let A=1{1,223, ...,10}and f: A — A be defined as

[k +1 ifkisodd
f(K) = 4

k if k is even
Then the number of possible functions ¢ : A — A such that gof=f1is :
Options :
5!
70819168885.

l{]{:
70819168886. 2

70819168887.

70819168888, 10°

Question Number : 62 Question Id : 70819121245 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AMA={1,2,3,...,10} TTAf: A — A,

(k+1 Afgkfam %

Flk) = .

| k aRkEAE

gr TRt ¥1 W UH Feri g: A — A, fF AU gof=1 ¥, F wrnfad wEN T

Options :



70819168885, °-

l{]{:
70819168886. 2

70819168887.

70819163888, 10°

Question Number : 63 Question Id : 70819121246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A, be the area of the region bounded by the curves y=sinx, y=cosx and y-axis in the
first quadrant. Also, let A, be the area of the region bounded by the curves y=sinx, y=cosx,

il
r-axis and X % in the first quadrant. Then,

Options :

70819168889, ‘M1 + Aa=1:2and A+ A, =1
70819168890, 1 271 J2 and A} +A,=1
70819168891, 11~ 2 and A +Ay= 3
70819168892, 2441~ #z and Ayt Ay =1 F 2

Question Number : 63 Question Id : 70819121246 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T Gy =siny, y=cosy T4 y-F4 G e FqA F R &9 B AR A, T AR T G
y=sinx, iy=cosx, x-34 741 XZIZ—I gmuwagaﬁrﬁﬁ{ @Tﬂﬁﬁﬂ?ﬁrﬁzél .
Options :

70819168889, A1: Ay=1:2THA, .Az=1%

AcA=1:J7 TaTA +A,=1
70819168890. 1" 2 V2 Lt g

20819168891, A1=A2 TMA +A,=2 g

7 o= _
20819168892, 2A1= A, TH A +A,=1+2

Question Number : 64 Question Id : 70819121247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fO<ab<1 and tan la+ tan ! b = :—', then the value of
az I h2 a‘.; I b‘.a a+h
(i::l f b] | b g
2 3 4
Options :
e
70819168893.
el -1
70819168894.

)
70819168895, 1082

_ _
lngﬁl o |
70819168896. heia



Question Number : 64 Question Id : 70819121247 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 0<a, b<179 tan 'a + tan 1b=%%,?ﬁ
| S ST | 8 Y |
@ +b) [&] | [&] [&] s
' 2 3 4
Options :
e
70819168893.
el—1
70819168894.

)
70819168895, 1082

k|

(e
lngﬁl =
70819168896. hea

Question Number : 65 Question Id : 70819121248 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

¥
w +y
y *’r. If the curve

X

Let slope of the tangent line to a curve at any point P(x, y) be given by

intersects the line x +2y=4 at x= -2, then the value of y, for which the point (3, y) lies on
the curve, is :

Options:
4
70819168897. g
18
19

70819168898.



18
70819168899, 32

18

11
70819168900.

Question Number : 65 Question Id : 70819121248 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gy \
WA UF 9% ¥ T fag P, ) W o v v Y gm A g 31 af @ 9,
X

xl2y=-lﬁ\x= ZWW%’,ﬁyWaﬁqﬁ.mmﬁg{ﬂ,yjH}TW%,%:

Options :
=
3
70819168897.
15
70819168898. 19
18

70819168899, 32

18

11
70819168900.

Question Number : 66 Question Id : 70819121249 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



- o 2 -
: : .n° +6n+10 .
The sum of the series

b is equal to :
=y | aal
Options :
%% | %5- gL |
70819168901.
B B 5
70819168902, ° 8
%} |-%§ 119
70819168903.
e T L BT

70819168904, 9 8

Question Number : 66 Question Id : 70819121249 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2 +6n+10

guip VD 1 AR FEL E
~ (@ +1)

Options:

%;DI %; R i}
70819168901.

o B ot g
70819168902, ° 8

%} |-%§ LA |

70819168903.

o =Ll g

70819168904, B 8



Question Number : 67 Question Id : 70819121250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

Let f(x)= Iet f()dt + e* be a differentiable function for all x € R. Then f(x) equals :
0

Options :

70819168905. ~

70819168906.

70819168907.

70819168908. ~

Question Number : 67 Question Id : 70819121250 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
X

A f(x) = e f(dt+ e* Tl x = R ¥ foI U FFEwerE wer 1A f(x) TR E
0

Options :

2e(e¥=1) 1
70819168905.

et —1)
70819168906.

e® —1

70819168907.



20"
70819168908, 2° 1

Question Number : 68 Question Id : 70819121251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

v , — — 4 xf(a) — af(x)
meﬂﬂmademmHHemndmnMI=aWMuTm=2andﬂm=4.ﬂmnhﬂ1——z—7——
5 X—a 3 C
equals:
Options :

J
708191689009.

70819168910. = <

70819168911, 22 T4

at+4
70819168912.

Question Number : 68 Question Id : 70819121251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I T e f (1), v =a T SGCHM ¢ T f'(a) =2 M f(a) =4 &1 A lim M s

T
Options :

oy /
70819168909, 22 4

A",
70819168910, = 2



70819168911, 22 14

a+4
70819168912.

Question Number : 69 Question Id : 70819121252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 _ L. _n
X —x=2 :
Let f(x)=sin" ! x and 8(*) = am. B If g(2)= Im'; g(x), then the domain of the
i X X x—=2

function fog is :

Options :
{ e 2] L) { ;r %
70819168913. =
i F kY
o -2 -3 )
70819168914. &
o0, 1] w2, o
70819168915. ( e )
r 2 — ]-r
70819168916, ' R bl

Question Number : 69 Question Id : 70819121252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i R T R o
A f(x) =sin ! x 741 g(x) = ﬁ HE U E”“j S{XJ,HTTFET"II{@WW%’:
2x° - x x—2
Options :
".I‘r A1
{— o, 2] W E' x/l

70819168913.



70819168914.

70819168915.

o, 2] w 1,. e
70819168916, ¢ < AVl =)

Question Number : 70 Question Id : 70819121253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A(1, 4) and B(1, —5) be two points. Let P’ be a point on the circle (x 1)24 (y-1)=1
such that (PA)? + (PB)? have maximum value, then the points, P, A and B lie on

Options :

70819168917, 0 cllipse

70819168918, & hyperbola

70819168919, @ parabola

70819168920, @ straight line

Question Number : 70 Question Id : 70819121253 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o & fig A(1, 4) @1 B(1, ~5) 1 A FE (x-1)2+(y-1)2=1 W P % faig 7, foras fow
(PA)2 + (PB) 1 W aferam & 1 fagP, A 7B =1 ¥ fofm W foom &7

Options :
70819168917, o STHTT



70819168918, TF HAldHATH

70819168919, &F T

70819168920, “F HITd

Question Number : 71 Question Id : 70819121254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— —

If vectors ay =xi — j + k and a, = 1 +yJ + zk are collinear, then a possible unit vector

parallel to the vector xi y i +zk is:

Options :

| 1 | B

T -7+ k)
70819168921, V<

LT

J3
70819168922.

L ; k|
70819168923, V2

Y i

70819168924, V2

Question Number : 71 Question Id : 70819121254 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



afe < |fw aj :x'g:' ; I L a9l ap = 'a'\' | y.’f I zﬁ w1 E, 1w xi 4 ;1;;1" b zk % HARH
TF T THE T ¢

Options :
70819168921. % [ ; - k|
20819168922 :%i (i i +K
a5
70819168923, ¥
14-9)

70819168924, V2

Question Number : 72 Question Id : 70819121255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LetF,(A,B,C) = (AA~B) v [-CA(AvB)]v~Aand F,(A, B) = (Av B) v (B— ~A) be two
logical expressions. Then :

Options :
F, and F; both are tautologies

70819168925.
20819168926. F, is a tautology but F, is not a tautology

70819168927, Fl is not a tautology but F2 is a tautology

Both F; and F, are not tautologies
70819168928. e

Question Number : 72 Question Id : 70819121255 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HHA Fl(ArBer =(AA~B)v[~CA (AvB)]v~ATHE Fg(Ar B)=(AvB)v (B ~A) a‘[ = A
=TF |

Options :

70819168025, F1 TN Fy T THAH

70819168926, 1 °F T € W F, U YA TR ©
70819168927, F1 T TR T & g F, T IR ¢

20819168928, F1 0 Fp S JTEIS &l g

Question Number : 73 Question Id : 70819121256 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A seven digit number is formed using digits 3, 3, 4, 4, 4, 5, 5. The probability, that number
so formed is divisible by 2, is :

Options :

‘M\]I;__,_}.

70819168929.

3| o

70819168930.

x]|,_-..

70819168931.

HJlH;..

70819168932.



Question Number : 73 Question Id : 70819121256 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

53 3,3,4,4,4,5,5 F YA T UF T 3 H WS FE T | TH TE a9 T FLAF 2 Y

fasfom 2 1 Miawm €

Options :

"-\.‘]IL'J.

70819168929.

3| o

70819168930.

MJ|,_-..

70819168931.

H-.J|,4-_..'

70819168932.

Question Number : 74 Question Id : 70819121257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following system of equations :
x+2y—3z=a
2x +6y—11z=Db
x—2y+7z=c,
where a, b and c are real constants. Then the system of equations :
Options :
70819168933, has a unique solution for all a, b and ¢

as . i i 7 -
70819168934. has a unique solution when 5a=2b+c¢

70819168935, has infinite number of solutions when 5a=2b+ ¢



70819168936, has no solution for all a, band ¢

Question Number : 74 Question Id : 70819121257 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
=1 gt g W faar =i

x—2y+iz=c,
2l a, b A9 c IFATESF = F | A 50 THE A
Options :
20819168933, F1 T a, b 7 ¢ ¥ foy Faet U 7t ¥

3 a="7 =
20819168934, 1 i U & ¢ 9 5a=2b+c &

70819168935, F 1 8 & 9@ 5a=2b+c ¥

20819168936, 1 T+ a, b @ ¢ & faw #1¢ &1 &l &

Question Number : 75 Question Id : 70819121258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The triangle of maximum area that can be inscribed in a given circle of radius ‘r’ is :
Options :

70819168937, An isosceles ’rria_ngle with base r_-qual to 2r.

70819168938. A right a_nglr:- tria_nglr_- having two of its sides of Ir_-ngﬂ\ 2r and r.



)
An equﬂateral ’r_rianglc- of hc-ight _—:
70819168939. :

An equilateral triangle having each of its side of length ﬁ r.
70819168940.

Question Number : 75 Question Id : 70819121258 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
‘v 50 & UF 99 F SAdTd Afawmed aawa w Py A a aa e ?
Options :
70819168937, ¥ WAGANE Friye forw swem 2r %

20819168938, TF TR FAst Formaht <1 [ i ow=ls 2r Tl r &

. Tl
wF THaTE B foat S 2L ®
70819168939. 3

20819168940, ©F THAE Frel foraai weie o<l 1 &g 3 r

Question Number : 76 Question Id : 70819121259 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a line obtained from the intersection of two planes x+2y+z=6 and y +2z=4. If
point P(a, B, v) is the foot of perpendicular from (3, 2, 1) on L, then the value of 21(c+ + )
equals :

Options :

68
70819168941.

70819168942, 102



70819168943, 136

70819168944, 142

Question Number : 76 Question Id : 70819121259 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A A x+ 2y +2=6 T y+22=4 F Mo MG @ L T 3 (3,2, 1) S @ LR T4
e g Pla, B, y) T W 21 (et B+ ) F1HA TERE :

Options :

68
70819168941.

70819168942, 102

70819168943, 136

70819168944, 142

Question Number : 77 Question Id : 70819121260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let f: R — R be defined as

[ . ¢ 17 4 T
;lsm{ =y HEx—1
%,

P
f(x) =

ars + x 4 bl, if-1=x=<1
| sin(x), ifx >1

If f(x) is continuous on R, then a + b equals :

Options:



70819168945.

70819168946.

70819168947.

70819168948.

Question Number : 77 Question Id : 70819121260 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AMf: R — R = gy afesnfoa 2

b

. -'?xj e x < -1
J®) = 4'a:rz rx+blAfe-1<x<1

;‘sin{:rxj T x >1
ﬂﬁf{x},ﬂﬂﬁ?ﬁ% Wa+b FET:
Options:

70819168945.

70819168946.

70819168947.

70819168948.

Question Number : 78 Question Id : 70819121261 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[f the locus of the mid-point of the line segment from the point (3, 2) to a point on the circle,
1% +12=11is a circle of radius r, then r is equal to :

Options :

|-l'-||—'-'

70819168949.

'__,_1||._.

70819168950.

M| =

70819168951.

70819168952.

Question Number : 78 Question Id : 70819121261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

7t fag (3,2) T F1 2 + 2 =1 & Tl fag 7% T@-wve ¥ wa-fag #1 faguy, « SR F1 & 99
%ﬁﬁrW%’:

Options :

H‘-||—'-'

70819168949.

'_'P.Jl;_.

70819168950.

b =

70819168951.

70819168952.



Question Number : 79 Question Id : 70819121262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A natural number has prime factorization given by n=2"3%5", where y and z are such that

5 " P NI : :
ylz=5and;u1 Fz l:-a,y}z.1h0nthenunmeroiodddnqmnsotnﬁndudmgl,m:

Options :

70819168953.

70819168954. =

70819168955, "~

70819168956, %

Question Number : 79 Question Id : 70819121262 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UF UIFHF T F A9 [IEE n=2%3Y5 g1 fou W F Wy 9 2 F faw y+2=5,

- - 5 i it ' (a1 v Ty Mol A
y g :gaﬁny:z% Wt n % fom o #1 v, o 1 7
Options:

70819168953.

70819168954. =

70819168955, *~

70819168956, °F



Question Number : 80 Question Id : 70819121263 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r rloget - (1
For x >0, if f(x)= I—“dt, then f(e) |f| -
1{1 k1) e

b1

is equal to -
J

Options :

70819168957, U

70819168958.

Yy

70819168959.

70819168960.

Question Number : 80 Question Id : 70819121263 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
% Elow b .o (1) z
x>0 % fom afg f(x) = [Be m%ﬁﬂﬁQ|ﬂiym@%:
' 1{1 Ft) \ e/

Options :

70819168957, U

70819168958.

Yy

708191689509.

70819168960.
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Section Number :
Section type:
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Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 81 Question Id : 70819121264 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1

r _ [, m=1 an=1 3. ¢ -~ 1 . A
If Im. no- _[lm {] ’1:]] dx, form,n = 1,and {_!. {1 | l,]m--n

0
equa[s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 81 Question Id : 70819121264 Question Type : SA

708191957
6

Online
Mandatory
10

5

20

Yes

1
7081911237

Yes

' =aly n,ae R, thena



Correct Marks : 4 Wrong Marks : 0

1 o i
1 l_m 1 II” 1

A I, = J.xm_l(l )"V dy, mn =17d IW dt=alyn,ac RE A
0 0

o« TRE |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819121265 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let z be those complex numbers which satisfy

745/ <4 and 2(1 +i) +7(1 —i) = - 10,i = 1.

If the maximum value of |z+1/2 is « A INE, then the value of (a+f) is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819121265 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 2 78 A W W W 245 < 4 m (1 Hi) 421 - )= - 10,i =T F wE
FAF| AR 212 A T o B2 AP AT |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121266 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the normals at all the points on a given curve pass through a fixed point (a, b). If the

curve passes through (3, -3) and (4, Z\E], and given that 'a_ 2.2 b=3 then
{a2 b2+ ab) is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819121266 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A UF 9 & TOF fag W Ao, 65 (a, b) T @R 90 €| AR 98 9 faged (3, -3) a4
If'ﬂl, o f5) AEmR I ama - 2v2b=3 ¥ (a+b2+ab) FTWERE |
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 84 Question Id : 70819121267 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let a be an integer such that all the real roots of the polynomial
2x7 + 504 + 102 + 1022 + 10x + 10 lie in the interval (a, a+1).

Then, |a|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819121267 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A a TF O & Foreh A 3gue 205+ 50t 41023 + 1002 + 10x + 10 F T+t Arefas qa1
(a,at+1) HEl W |a| TRWE____ |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819121268 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



18 18
Let X, X, ..., X|g be eighteen observations such that l(}(i a) = 36 and l(}(E [5)2 =90,

1=1 1=1
where o and [ are distinct real numbers. If the standard deviation of these observationsis 1,
then the value of |o = Bl is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819121268 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

18 18
T Xy, Xy, ..., Xyq 3G B & o foOw Y (G — @) =36 7 Y (X; - > =90 & &

i=1 i=1
o T p Torr arfaes gead €1 4 o7 Yol w1 e e 18, @ o - Bl W AE AU 2
N
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121269 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
10 0 | 100
[fthematrix A=|0 2 0 | satisfies the equation AY 4 oa? FBA=|0 4 0] forsome
30 1 001

real numbers « and B, then p—« is equal to _



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819121269 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1 0 0

gfq f&dl amafas d@msdl o a9 p & faw sege A=|0 2 0 |, WHEHIW
30 -1
1 0 0
AR A 4 BA={0 4 0| MO FAME AP TRE

0 0 1
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819121270 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a and p be two real numbers such that a+p=1 and afp=-1. Let p =(a)"+ (B)",

: : i
Pn-1=11and p, ;=29 for some integer n = 1. Then, the value of p_ is

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819121270 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T o F1 <) AT T € o e o+ p=1 3 o= - 1 &1 WA i g0 n = 1 Ffow
pu= (@ (B, py_g =11 T p,, =9 F| Wp2 AT |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819121271 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The total number of 4-digit numbers whose greatest common divisor with 18 is 3, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819121271 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

4-37] 1 g, Toa 18 % WY wev gAS qWE I F, HpAgEE |
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819121272 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[f the arithmetic mean and geometric mean of the p“' and q“' terms of the sequence
16, 8, —4, 2, ... satisly the equation 4x2 -9y +5=0, then prqequalia . - . .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819121272 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

R S 16,8, ~4,2, .. Fp qUIq" T 35 TRIR AT T TR A, T 442~ O +5=0
FFQREFAG A p+qTWRE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819121273 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let L be a common tangent line to the curves 4x* +91>=36 and (2x)*+ (2y)>=31. Then the
square of the slope of the lineLis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819121273 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
T T 422+ 992 =36 T (20)2 + (2y)2=31 F1 TF T TRl @ L& | 0 L g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



